
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

WO6036-03 08.07.1 null K38 12-OCT-98

Engines GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  WO6036-03 Water Outlet  LTA thermostat support and...(More)

     housing assembly with dual 3

     inch water outlet connections

     pointed up and low

     temperature aftercooler water

     connections. For connection

     by hoses only.

     For use on KTA38.

 S 141 C Hexagon Head Cap Screw 4 3/8 - 16 x 6 3/4 in.

 108707 Hexagon Head Cap Screw 2 3/8 - 16 x 1 1/2 in.

 3036460 Spring Washer 6  

 3052907 Water Transfer Connection 1  

 3052908 Water Transfer Connection Gasket 1  

  3349227 Thermostat Housing 1  

 3628606 Pipe Plug 5 1/2 - 14.

 3628607 Pipe Plug 2 3/4-14.

 3628968 Thermostat Housing Support 1  

 S 103 D Hexagon Head Cap Screw 6 3/8 - 16 x 1 1/4 in.

 S 106 C Hexagon Head Cap Screw 2 3/8 - 16 X 4 3/4 in.

 3036460 Spring Washer 14  

https://qsservices.cummins.com/qshd/feedback.php?productid=1


 3049364 Connection Gasket 2  

 3630248 Water Outlet Connection 2  

 S 197 Hexagon Head Cap Screw 6 3/8 - 16 x 4 1/4 in.

 S 962 E Draincock 1  

 3052906 Thermostat Housing Gasket 1  

 3060889 Thermostat Housing 1  

 3349225 Thermostat 1  

 3627961 Thermostat Seal 5  

 3629205 Thermostat 4  

 3628609 Pipe Plug 1 3/8-18.

 69461 Male Connector 1  

 3626660 Male Union Cross 1  

 3626716 Protective Cover 1  

       S 109 Hexagon Head Cap Screw 2 3/8 - 16 x 7/8 in.

       S 604 Lock Washer 2 3/8 in.

       68139 Male Adapter Elbow 1 1/8 NPTF X 7/16 - 20 (90).

       108722 Clip 2  

       109895 Oil Tube Bracket 1  

       3175058 Clip 2  

       3201128 Regular Hexagon Nut 1 3/8 - 16 UNC.

       3627784 Male Adapter Tee 1  

       3628902 Plain Washer 4  

       3629729 Water Tube Bracket 1  

       3934885 Plain Street Pipe Elbow 1  

       S 109 Hexagon Head Cap Screw 1 3/8 - 16 x 7/8 in.

       S 604 Lock Washer 1 3/8 in.

       68139 Male Adapter Elbow 1 1/8 NPTF X 7/16 - 20 (90).

       108722 Clip 1  

       109895 Oil Tube Bracket 1  



       3175058 Clip 4  

       3201128 Regular Hexagon Nut 1 3/8 - 16 UNC.

       3627784 Male Adapter Tee 1  

       3628902 Plain Washer 2  

       3934885 Plain Street Pipe Elbow 1  

       AS 4011 20SS 2  

       AS 4054 SS Flexible Hose 1  

       AS 4050 SS Flexible Hose 1  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

